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Cr—idta gladal Jlaia) 10.5
(Probability of the Union of Two Events)
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P(AUB)=P(A)+P(B)—P(A/B) .vereeev v e (7-95)
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AUB = AU[B-(A/B)]
oM Jall,

() P(AUB) = P(A)+ P|B—(A/ B)]

: filia ols B—(A/B) 4 A/B S,
B=(A/B)U|[B-(A/B)]

(2) P(B) = P(A/ B)+ P|B—(A/ B]
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- o s (2)5 (1) e
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413 52 52 52 13

283



(Compound Probabilities) 4—$_ a8 cNL_Gay) 11.5
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(1,6 (1,8) || (1.4 [ (1,3) (1,2) (1,1)

)
(2,6) || 2,5 (| .9 ) @3 ][ 2,2 || 2.1
)

(3,6 (3,_5 3,49 || 3,3 || 3,2 || 3,1)
EEIEIEAE
R EIEIEE
[6,6 | 6.9 |6, 9] 6.3 ][ 6.2 ][ 6.1
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(Probabilities Laws) <¥l—dialy) il 8 12.5
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(Conditional Probability) by pdiad J—aia¥ 13.5
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P(A/B) =!1PI:—II;—§Q ............................... (10-5)
S P(A/B)=P(B).P(AlB) ..ccccovvmmuvrrnreranns (11-5)

(16-5) Jtia

o il AV aad Lemas S L Al e L8] DG 20 g0
Bee . 10 G 8,5 S20 S Gy S 30 JyV pas)
G L& Wl aal st 8y dapally 5 puS JS B eluagdl <l I
¥t LuS e Dygannall 3 S 85 o Jlaial aa gl . 58 4de Cuay
gl s b elidan Sy

t Jead)
. 1
(S sa by llay ¢ (5 sby JaV GusSh g 380 (58 o Jlatal

O el 3 S caa Jlaial LW DA LS e JSY el a
t gt Jo¥1 Lus)
5.1

30 6

Ja¥ S e Tagaalt 380 (588 oF Jlaal i ol 13 e
: 94 eliau,

289



(17-5) J—3
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P(A/R) = P(A)P(R/A)
P(A)P(R/A)+P(B)P(R/B)+P(C)P(R/C)
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P(A)y=—=— , P(B)=—
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- P(AI/B)=P(A).P(B)
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P(A) = 2 , P(B)= 1
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P(B) =0.40
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P(ANB) =P(A) P(B)
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: ol L.‘aj e Baa B, AS ) Gy

P(A° N BY) = P(A°) P(B°)
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